N
N
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The branch of Biology which deals with the study
of heredity and variation is called:
Choose the most appropriate answer [rom the

ophions given below:

(A) Reproductive biolopy
(B) Inheritance

(C)  Genetics

(D) Dominance

(1)

Question not attempled

dafaam f Tw wmar ey 3TT=[r1ﬁ'T.B‘m am
fafu:mﬁmmﬁmmmﬁ_m&%.
fr=fafiaa Frmﬁﬁﬁ?raff‘ummzmwi
(A) 979 Jafaam ) )

(B)  FwImiq
(C)  afah
(D) mafam
(F)  w9af@ ug

Which of the following is not a function ol blood?

Choose the most appropriate answer from (he

options given below:

(A} Excretion of the waste products out of the
body

(B)  Production of enzymes for digestion of
food

(C)  Ixchanpe  of 0O, and CO5  between
environment and the tissies

(D) Transport of hormones

(k)

Question noy attempted
freafafaq i g T A AT e T o

Fmfefo Fﬂ?ﬁﬁﬁmfﬁnx‘mgmm?ﬁ

(A)_ FHTCR safar qzrad 1 Tarsd

(B) 33 % qrg fan-“_:iﬂ;_x;nm

(€ T ik i & 4 o, sin CO, 7
(D) #TE 7 afrawg

() @i uyg

TUV-co9| 4,

Hormone insulin is produced in-
Choose the mast appropriate answer from the

options given below;

(A)  Adrenal gland (B)y  Liver
(C'y  Pancreas (D) Gall Bladder
() Question not attemptesd

Zufea mmir w1 e A R .
frafafaa fren a g mrif?mmg:sm RG

(st (fzae) nfa i
(B) 7 (eframy |

(C) =1 (f=rrany |
() foamm e =i 4
(1) srafm ag

IT the difference between 71% of a number ang
49%, ol the same number 1s 396 then the number
15:

afa frft e & 9o

o TN T W F e, i
ST 396 2, A1 giogg

(AY 1720
(By 2200
€y 2000
\m’) 1800

() Question not attempred / 3R Uy

A sum of maney was lent on simple interest for a

certam time, I the sum amounts to T OO0 a1 107
rate ol nterest and 1o TI600 at 4%, rate of
interest, then ind the time (i years) for which

the money was leng?

%o wanfa araner 2wy g FB W favm 4
wéi afe ufar 10 =z § 2 000 1 A 2 @
4% PR TR 3600 0 1t 2, ) s o1 o
ufe Pm & @il 0) ¥ forg zam 41 mé o6

(AY 30
~mB) IS
(¢) 20
(D) 10
() Question not attempted / W a4

[ Contd...
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9.

A sum of T 15,500 was Jent partly at 5%, and the
remaining at 5% Shﬁ'p!c, interest. The total interest
received after 4 « 'ca‘rJ was Z 4000, The
mom./ lent at 5¢ J{:\)lthat at 8% s

T 15,500 7T F1 ,5

ratio of the

“
(Xf7 9 5% ?m‘r:rmrr 2%

ar:m*"ar’w*mgmwm:r"q‘m*——r?m
74000717 7 AT S’QWTZT"TTT’W—I 8% 9T
W’TWW’T‘?W”

(A) 65 (B) 16:15

(C) 15:17 <)y 17415

(E)  Question noCuttempted / FIATA 7Y

If the difference t%f-wfcc.n compound i mtcre:t and

simple interest Onfacertain sum at 20% p.a. for 3
years is T 480, thafhe sum js:

mza—:mqutwm‘*qu3—q?m

e ?-rr?.ammmmrr,arrz 420 %, A7

(A)  Z4000 05 (B) %6500
(C) Z6000 ¢y TBy Z3750
(E) Question norhttcmpu:d it 33_—‘1‘_?1'&?1'7’1

N .
What percentagesof the total milk protein is

casein? O

Choose the most appropriate answer from the
options given bclgl
Wmmmﬁqmmmwz

(A) 40-45% v=~<¥B) 90-95%
(C) 80-83% N (D) 60-62%
(E) Question n\ggattemp:cd / J—'fff??f ug

Sclect the green fpdder from the following:
Choose the most appropriate answer from the

M s (Ve W
options given bc:lo‘:i

(A) Oathay

(B) Berscem and\'fuccmc

(C) Mustard ca 39

(D) Paddy Stra )

(E) Question ncﬁjuampzed

FrAfafad # @ 7 9l #1799 Fie
et i G Fatfares g s
(A) FEFE  B) FTEH AT gEd
() w@AETE (D) gEFEgE

(B) SAFAAIA

3

1

recd o
Whrich of the following is 2n indigenoys °
<5
chicken? e -
Choose the most apprapgfd"e Eﬂs“rEf

i

m the

opticns given below: o)
(A) Rhodeislandred O
1™
(B) Plymouth
(C) Asee]
(D) White leg hom =
(E) Question not atempled _ .
aRec Ll
EriteLE-R-feac: m:;g-g(rar‘)mt'
‘1".‘1%? C\l a—:i-
ﬁﬁfmm:aaa{r?ﬁm gt Sut o
i
-
fA.) 7-7\"11:(";‘\3 @
(B)y mzEEd
— =
~C) m‘ o0
(D) =WEZEFEA 0
T S— i
(E) #arauza &
-
0

If zinc g_rami]es are added;to copper sulphate
solution, what will be observed?

Choose the most approp%te answer from the
Q¥

options given below:

(A) Solution becomes cf{l\%prless.
AN
(B)  Solution becomes rédiin colour,
(C) Solution becomes br@wn In colour,
(D) Solution retains its blue colour,
(E) Questionnot anempted
N .
g 5% & a5y Eoiry Hﬁz o Taﬂa:;" 35
- ~ [ , - q Tq’a-‘m

SRmFIREE I o
(A) mmmm% ¥
(B) ﬁm:ramtnm*étﬁfm%]
(©) faegs qgmarasnm-a]
(D) faegw mmmmm

) vaﬂ'r%l
(E) Aoy
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Choosc the Incorrect statement with reference to

non-metals,

Choosc the mast appropriate

options given below:

answer from the

(A) Non-metals are used in fertilisers.
B) A _non-metal is used in the water
ppﬁﬁéatign process,
(C) Non-metals are grood conductors of heat
and clectricity.,
(D) Non-metals are used in crackers.
(E) Question not attempted
ST 6wt i et g 71 w3fomy
Tretafae et o Agifera Fuges 3m 4
(A)  STarqAY =61 39T TR s 2)
(B)  3raTq T ITANT S T £y Hﬁ‘rm T frm
EII] P
(D) m@@mm vt 4 Grgr a2
(E) gaf@ya

How many images of an object are tormed when
it is placed between two parallel mirrors, facing

their reflecting surfaces?

Choose the most appropriate answer from the

options given below:

(A) Infinite (B) Onc
(C) Two (D) Four
(E) Question not attempted

ﬁwmaﬁaﬁm?ﬁnxmnm
S for 21 T T O gE 4 e B, 1 e
% fop wfdfsia ara &2

et i o gatfas 3IugTh m?{q’

A) A4 (B) UH
© A A (D) =W
(E) Srgafqsd

14+,

15

16

17

What is the greatest 3-
divided try 15, 25 and

—

W) [eaves 1E77 minder 12 i

cach came”

'qn‘f'{:r‘e‘!ﬂ-{e‘lf"ifz“"’/n w340 | 5,257,

’ re

e AR AV

30 31 S77r1 FT T TV
(h) 912 gy Al
( C)‘ 934 (13 92%
(B)  Cresion not atternpterd /% w7 Y

The average of 9 Conwnive
in their amending order is 17, 1is the zversy

% Z,
of the ﬁrot aven of thewe numnbreri?

O T YA 1 AT FE
18 %) 798 71 77 WL?Z'{?“T.’//’T-”?B’L’?';Z’?
(A) 1% By 16
e 17 (D) 17.5
(E) Question not atternpted / ""7"""-7 Tz

What is the average of the mumbers 9, 5,7.16, 10
and 137
9, 5,7,16,10 74T 13 Ermrsi =y Are= w20

Ay 10 (By 11
(C) 125 (D) 105
(E)  Question not attempted / A 55

The average marks of 40 students of z !

S 0oilacizis n

test were caleulated a3 33, Byt Jater it

"

was found
that the score 33 was taken 25 92 by m
What i3 the correct average of their marks?

wzréuoﬁmrfm::wq&m-. #Araa &% 33 0

T 5 3T 7T 5 33 5 3 et B 03 = Sy

mistzake,

(A) 3125 (B) 345
(C) 33 "*-(Q)\ 31.5
(E)  Question not attempted / #337A 57
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Name the dialect spoken in the region of Kota,
Bundi, Jhalawar ang Baran.

Choose the most appropriate answer from the
options given below:

(A) Dhundan (B) Mewati
(C) Hadoti (D) Bhili
(E) Question not attempted
HI, G, TS iR At i dre A
; el T 1 "4y
! W@ﬁa@iﬁ%wﬁmwmﬂi
| (A) JerEt (B) Fam
‘@ O ERr (D)  frefr
(E) 3gaiawx

; \{ In which area is the Salasar Hanumanji fair held?
' Choose the most appropriate answer from the

options given below:

(A) Churu (B) Udaipur
(C) Pali (D) Karauli
(E) Question not attempted
| Rrfrfiae Faevesi & & raires sage S T
RS I ®) X
| ©) (D) Al
®) @

| 20 Where is Latthmar Holi played in Rajasthan?
| 'Choose' the most appropriate answer from tpe
options given below: -
(A) (B)
| ©) Bamswara (D)
(E) Question not anen-xpted -
e & ST et el el STl 82 |
erfrfaa e 4 ¥ gatfire Jage I
(A) e ® frm
(c;Dr ATl (D) el
;ﬁﬂﬁa A

‘TUV-C09] &

Barrnﬂf Bhinay

Srimahavirji

\\2!

\{2

B

The process of coating tecth wi

ver fro
Choose the most appropriate 205%

options given below:

(A) Mokdi (B) Rakhan
(C) Choonp (D) Kandora
(E) Question not attempted
it U ) gt =g T EFETF'W &
(A) HES (B) T&A
) = (D) F=T
(E) &It o4
" Name the famous falk theatre of Jaipur.
om the

Choose the most appropriate answer fr

options given below:

(A) Tamasha (B) Swaang
(C) ChaarBaint (D) Hela Khyal
(E) Question not attempted

SR 3 W S A1eh A FARe
Wﬂﬁﬁﬁﬂﬁ%mm%ﬁ:

YA)  dERET (B) M
(C) =Rad (D) T
(B) guiEws

Which place‘has the distinction of being the most
mysterious tourist place in Rajasthan/India?

Choose the most appropriate answer from the

~ options given below:

(A) Taragarh (B)  Shergarh
(C) Mandalgarh (D) Bhangarh
(E)  Question not attempted
m/m%ﬁ?&wﬁaﬁ%
Yo T B4 1 IS NIW &7 |
Pt e & et g
(A) TG ® o T
(©) wiewTg D) Wrmy
(B) Srgaf@wa

[ Congy
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: i 27 i hed pair with referen
24 Which of the following institutions launched the \m Choosec the mismatc p ce 1o j

Centralised Web Porgg) ‘UDGAM’ in August waste managegent. B
2073? Choose the g@st appropriate answer from the E
(\ R o e Y St ez options giverf bklow: 3
v TS 37T 2023 T (A) Housegjd source - radioactive substances t:?
i thoose the most appropriate answer from the (B) Textilgindustry - waste fibers _ "
‘ (Sﬂfgons given belt.:m.J (C) Agricilfire - pesticide run off 4
O WWM&&W%W@ (D) MedichFSector - infected tissue, syringes - .
(4) UGe (B) ISRO (E)  Question not attempted !
';f(g) NHAL (D) RBI | mmﬁwnmmmwﬁﬁqa} ;
1 o et gy | e |
\l\ fhe  “Rising Rajasthan ~ Global Investment ﬁﬁfﬁfiﬁﬁﬁmﬁﬁmmmﬁ :27.'_3
wSummlt scheduled for December, 2024, will be NA) B gL Yt uenf
el d at B a*a;w@— e -3
¢ }::t?g:: ::e:bo:;, :PP" opriate answer from the (C) Y - Wa’ﬁ,’aﬁ ) : “
(A) Bhilwaa (g O S S e s
<! - ) Jodhpur (E) yafeadis : <
{O) - Udaipur @) Jaipur *\& e
(E) Question not attempted 2 Which of th&pllowing diseases are not caused i
o e 2004 v T s e by bacteria? T =
~ TR e « st st i s a. T“bef%OS'S
\Frftifian famredt & watfies sogm swogh: b. Polio O o 3
“XA) sfeErer (B) Wuxm .  Measlss §
(C) I R) AR =5, Typhojd,
(U(E) aﬂ-ﬂﬁaw - e.  Malariad
ﬂe traditional hunters of Rajasthan include: - 'Choose the hidst appropriate answer from the
;“a Thori b. - Naik 4 options ngeq—lg‘:low
¢ “c Sansi d. Boliya (A) ¢, dand® only (B) a,bandc only
\ Choose the most appropriate answer from the (©) b,cantfy only (D) b,cande only
opt:ons given below: y (E) QUCSﬁS? not attcmpted
(A) canddonly. (B) aandb only. ﬁﬂ%ﬁﬁﬁ&ﬁ?ﬁﬁﬂmﬁ?ﬁiﬁ%%ﬁ
<(C) bandconly. (D) a,banddonly. a. qfew RLG; ) . 4
{';':(E) Question not attempted %, o0
{ JroT 3 YRR R & 4 .  wEu (N :
Cpd O b. & d.  TrwEEl E
4w d. afern SN :
ﬁm:ﬁ%ﬁﬁﬁmmmﬁl A R Rt 3 : ]
. Wfﬁa;mmmakl
C1A) am-fo%ﬂtd (B) %acta3ib ) Faw SR e (B) ¥, bad
© aﬁ-abatﬂ‘tc .D) Faed a, b 3R d (C) F=ADb, ¢ 3ty | aﬁabcaﬁtz
(E) aia?rﬁﬂ‘ﬂﬂ' & (E)  rgafaws (BQ) '
TUV-C09] & 6 [ Contd...
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The country defeated by India in the semifinal of
ICC MEN's T20 WORLD CUP, 2024 is:
Choose the most appropriate answer from the
options given below:

(A)

(C) (D)  England

(5)  Question not attempted

e < 578 -3 Wt wft e & 20 fare, 2004° ¥
FHITETSTS H M 3 g o

et frevei 3 & warffores e wr:
(A 3Tfern (B) 3R

YO FEmsshE (D) g
(B)  qaia s

Australia

(B)  Afghanistan

South Africa

The Rajasthan  government has started a

programme for the proper management of water

at the local level.
Identify the programme.

Choose the most appropriate answer from the

options given below:

(A) Rajasthan Jal Sanrakshan Mission

(B) Jal Kranti Abhiyan

(C) Pradhanmantri J.al Swavalamban

(D) Mukhyamantri Jal Swavalamban

(E)  Question not altempted

TSrET TR STl & qead Werde o for T
e T YT A
FrdzRn 1 e S

e Fereresi B 4 wrarffires 3ugw FC:
(A) T ST T firer

By et it At

(C) LIELEIE GESICRLEE]

(D) E@:ﬂ'ﬁﬁﬁm

() rE A

TUvV.co9| 4

5

Ry

. : Helow:
options given l

(A) Banas

(B) Chambal

(C)- Mahi

(D) Jakham

(E) Quelslion not attempted

mﬁ“‘m'@??

Qﬁmﬁa Ffi Fm‘fﬁﬁ[o
N AW

B) I

(C) W

(D) SI@H

(B) 7Aai 94

Which multipurpose project is located at Borkhera

in Rajasthan?

Choose the most appropriate answer from the

options given below:

(A)  Sidhmukh Project

(B)  Mahi Bajaj Sagar

() Rana Pratap Sagar

(D) Jawahar Sagar

(E)  Question not attempteg

R TR S ey

T feum & R

) i e
‘S) T WY |
™ s

Cop,

Scanned with CamScanner
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- Support money for small cattle (small govansh)

under, cattle maintained in cow shelters registered.

by the state government is enhanced from October
2024 as:

Choose thcq\?r‘mst appropriate answer from the
options given below:

(A) 52/ day (B) T 36/day

(©) z22/@gy (D) %38/ day

(E)  Quesfion not attempted

T T %I% wfter TireTETe & W@ T wART
3 Site SR AR (e e 3 v rerrar
HIZER, 2024§r3qmaa§n§%: ‘
Frrferfaa {3t o & warfires suge s
(A) Tsa2dk (B) < 36wfife

(C) T22 (D) T3suRR

(E) 3ataws '

Which one %thg following is incorrect about the
ban on fishing in Rajasthan during June-August
20247

Choose the?wst appropriate answer from the

options giveén below:

(A) The rg'n on fishing is for full month of
June@Qd half month of August.

(B) Fish§pecies grows during the fish breeding
seasof?

(C) Fish Qsiness, exchange and display is also
banned.

(D) Entirc. July month ban on fishing is
appliggble. .

(E) Question not attempted

SH-3TTET 2024 .2H TS & 7ol gehgy ut

stefer 35 it FaRafae 3-8 e e

fr=fafaa % & waffire 3ugw S gA:

(A) GE{%F T qﬁ%mm%mqﬁ%%@
e e Ty 21

(B) trasﬁ% srnferat Foe WA & e &

(©) m?.zzm fafra 3ft fror @ s
piccpg:| &

o) q}g@mﬁwm@wnﬁa‘ﬁma
(E) agaIEm’I i
TUV-C09 ) .$-

35

ﬂ{

Which of the following countries is the host of
the “International Conference of Agncultuml

Economists” (ICAE)- 20247 _ )

Choose the most appropriate answer from the

options givenﬁélow:
(A) Mayan‘r}xﬁr (B) Ne}.)al
()] Bhutan’ (D) India
(E) Quesg ?ﬁflot attemmpted

P 201 ey orduRE %

st TR (ICAE)-2024 31 HSTaT 87

Freferfia el 3 & Watae ITIH IACG::
(A) WAR (B) AT

©) T < (D)=

®) FERGIA

From the lisf-of the following statements, select

the correct stAtéments: : ‘
a. The e?fémal appearance of an individual

is calle%ggenotype.

b. | The character which expresses itself in F|

generation is called dominant character.

c. Such fpe of cross in which a single :
cogtra?ﬂhg trait is considered is called:

mono-%rld CToss.

d. The f&cfor that controls a character is
, called elne.

Choose the {nast appropriate answer from the

options given-below:

(A) canddonly (B) a,bandd only

(© b,c am\iigi only (D) aandc only

(E) Quest'\gs not attempted

Frfefiaa gt o =it F A, wdt o o=

i

RN
a. 5 fE & T e @t emeg

(ST T )

N TEEIDS T F, i o w
R . SHEATT &l
o X T Rt e faatdt s Rt
- m;gymmmél
T8 I S TRt wraor Y P e 2,
iy
8 R Rt & 2 wrartfares e s
(A) C%Td (B) ¥awa,baid
Q) aTﬁ”"k&’:ﬁ*’ﬁ(ti(Ii] FaeT a3t c
(E) rgaRama

[ Contd...
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The plants which ar
c CrOSscd lo 5
obtain the

qu
Choose the most appr()p;}t}ﬂ:

offspring are called:

answer fro
: . m the
options given below: '

(A) Zygote ‘(:;
(B) Hybrids t?,
(C) Parental generation®™
(D) First filial generation
(E) Question not atlcmf):iyd

ﬁ”‘f@.ﬁqﬂmfﬁm "_v\%m .
7T &, AT & iﬁ R
it et 3 & Frartfyes vage s g

W) TEA Q

®) T O
(-

(C) e digt

(D) el e die

(E) STuiawd o
(a8
(@]

A first class airport at Ja{ﬁi‘r in Rajasthan from

where the domestic andTinternational flights
w

D s
Choose the most appropriate answer from the

operate is known as-

options given below:

gt
(A) Rana Sanga AirportX)
(B) Sanganer Airport N
-
(C) Dr Babasaheb Am‘qe‘gkar Airport
(D) Rana Pratap Airport=
L
. )
(E) Question not anem;_g_ts

mﬁ%mﬁ@mmmﬁﬁﬁmﬂﬁﬁ
mewﬁmaﬁiwﬁ-

Prrfirfiaa foreredt 2 @ Fag ST
(A)  TIOT W €4TS STESTi~

\B) i ager

(©) Erara'rmﬁﬂm’tzvg%aﬁm

(D) U SaTd EIS ST

(E) wgufa s

TuvV.co9]

/g ‘

und P
otics of palash forests
Characleristics o
: . "
Rajasthan are: (Dd . nose are
e SPIreE
a These forests arc br’[j .
| i Ay and 1
;  is sfony N
where the surface 15 25 mong,,-g yills
a
b They arc¢ found ubunflﬂml)’
| . available:
where platcau Jand 1S qvjnl i 1o
on
¢.  Thesetypes of forests ar¢ found
Mount Abu region. w7 .
(8% . the plains
d.  These foresls are also_‘fjound in the P f
. amount ©
which arc pebbled and hpve Jess am
™

soil. h
) ewer from 1HE
Choose the most (rppruprlf{l:s answer fr

options given below: -
(A) a,cand d only.

(B) a,bandc only =yt
(C) b,cand d only. 2
(D) a,bandd only 1
(E) Question not alu:mptt;ct‘l\:;I

e 3 T ST ATy e Srat i fardnd i é:
Ao 3 7 3 el & STl w1 utaer ggiar

a,

I T 3 R -

b il 5 e i 8 AT T i Sy 2
aﬁwﬁs{qméﬁi

£ Wm%m&aﬁw@émmfﬁﬁm
v B

d. e Bawr A ft O S E St day s
qarzmwnqrd}am@l

ﬁﬁqmﬁwﬁﬁ&mmmmﬂﬁ,

(A) FdeTa, ¢ 3iCd f_\: .

(B) Haela, b3llc N

(C) Faab,c3fid C\f;

Np) Faera,befitd O

(B)  rgeifea

[ Conta,,
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@ Match List-1 with List-11;

TUV-C09| ¢

B

a. Red yellow soil 1.

LA ‘List-11

(Types of Solt) (Most appropriate

churacterlistics)
Contains a sandy

loam texture

L. Deser soil 11, Presence of iron

particles

¢. Black soil I1l. Cannot absorb and

huld much water

d. Alluvial soil IV. Checka dominated soil

TR -1 g g Bl

T -1 w11

(T 36 sty e st
fadraamy

a. A dA TR, 1 el e v e R

b. TR 1. @Y st ey st

c. IR PRI~ 111, ST UTeer O oy apvar
EL b cikd]

4 ST V. fEwE

Choose the most appropriate answer from the

options given below:

Hr faq o Frareit # @ FaiY®w ugeE swgf;

(A) a-1Lb-Mlc-1V,d-1
B) a-Lb-1lc-1,d-1V
(C) a-1,b-1V,c-1,d-1l
(D) a-Lb-llLc-1V.d-1I

(&)  Question not attempted / 3G uy

10

- -

Match List-T with List-1I:
l.ll“'l]

Llist-1
(Lakes of (Cities/tovwns
Rajasthan) where located)
a.  Ana Sagar I. Churu
b. Tal Chhapar Il. Tonk
¢. Sardar Samand 1L Ajmer
d.  Tordi Sagar 1v. Pali

et R e -1 & g Ak
ot 1 gt -1t

m@, (mnmsrz’f
sfren) araftea @)
a. ‘ IFT U =
b, AT B 1. Ik
c. UERYEHS IIL HTHT
d.  AEmm 1V, aredt

Choose the most appropriate answer from the

options given below:

A frg o et ﬁz?marffz‘zﬁaﬂg?ﬁmaﬁﬂ

(A) a-1V,b-ILc-MId-1
B) a-ULb-T,c-1d-1V
™) a-lLb-Ic-IV,d-1I
(D) n-l,b-lv,c-u,d-m
(E)  Question not attempted / 2734t w4

What is the difference between compound -

interests on T 40,000 at 10% per annum for l-.l-;f
years when the interest i compounded scmi-
nnnually and when it is compounded annually?

¥ 40,000 W 10%, =ifites 2 § 1— a4 ¥ gl
=Sl S SR srdenfifa mﬂi%rr B R T

arrrmﬁawzh&'\ﬁam ¢, TR oz 0

S 2105

(B) 110 =
(C) 95

(D) 100

(1)

Question noy Altenpted / STt W
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On an average, how
human being
out?
an #7 frafg B U, T SR v oz i s
a1 = mafey e i e r

Choose the maost approprinle answer from the
options given below: i

ﬁnhmﬁjﬁnnnm%mmﬁ

many times does an adult
al rest in a minute breathes in and

(A)  19-22 (12) Zo-11
(C) 132-34 (D) —15-18
()

Qucstion not attempted / ﬂ':ffffﬂ' e
Rapid  uncontrolled cell _division or tumor
formation which causes 'ﬁlf\lcrab!c pains at a

later stage arc the causes ared_jsympmms of which
of the following discases” -

Choose the maost appropriafe answer from the

options given below: (a9

(A) Swinc flue ()" OHemophilia
(C) Hepatitis A (D)OCancer.

(E)  Question not attempted

ﬁmvrmwnmnﬂ”m?ﬂﬁm fr:
T 7 1 11 F = s a4t

~ ~ ~ ~ as =s = -~ ] -
Wﬁmnawﬂmmmfﬁz

(A) FIEE (B e
€ FmEtma  w) |
(E) fa vy ©
Examples of infectious diséases include:
a. Cancer b. Cholera

c. Arthritis d. Swine flue

Choose the most appmprme answer from the
options given below:

(A) a,bandconly (B)i:‘l',banddnnly
(C) b,canddonly (D)(.j: and d only
(E)  Question not attempjed

T, T % 2217000 | gigied 7

a. FaT o

b. P (FIE)

c. nfean (ardmsen) :‘\l'

d. A o

= 5 { .
ﬁﬁvwﬁmﬂamﬁ‘wz@mm?ﬁl

(A) Fada,bHlc (B) Faeia,bimd
(C) FAADb, ¢ A d (D) NFae b 31 d
(E) #Aqafa 94 Ty

(-

~ 41-

i

11

saves cvery month?

then
The cost of a commodity increased by 20%,
ption by 20%. BY
the

a family reduced its consum ¢
. H e (o]
what percentage will the expenditur 3

e e ease?
family on the commodity increase or decFed

(A) 6% increase "i
(B) Nochange ~
(C) 4% increasc (=
(D) 4% decrease '...h
(E)  Question not attempted €2

- = - Ef
Freft 7 3 e 1 20% 1 9fg € 9 O AT
m%r@qﬂﬁzo%ﬁrmménwaqtitﬁfmﬁ
Tmmmqm#nﬁwmq%maﬁﬁa(ﬂ;n

(A) 6%33 ol
(B) T Uitgda 7@ g
(C) 4%z :,
By 4% FH et
(E) #Agaf@ang

By how much 772-% of T 300 exceeds %2107
3300 775-%, % 210 3 foremr sfrs 220

(A) 233 @) 723 { i
(C) 213 (D) %90 A
(E)  Question not attempted / A 9

, (18]

Every month Navin spends 60% of his szzla}y on
houschold affairs. He sends 50% of the remaining

to his parents and spends 50% of thg. still

- remaining on family outings, Still he saved ertain

amount, then what percentage of hig sa’lé‘}y he
=i

T I T 19T et 60%qqu‘i_~q'xszm
iﬁm%lazfmww%&!ﬁ:’mmaﬁﬂﬁ’-%ém
%ﬁnm\ﬁﬁqzﬁrm%wﬂaﬂ%mﬁt%}ﬁw
mm%mﬁwmﬂsﬁgﬁsmaﬁrm.

A1 e e mmmmm;‘x
i a
(A) 12% (B) 6% =]
€) 8% D) 10% &Y

Sy
(E) = Question not attempted / %H& :

[ Congg,
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w,. Name the 13w Minister of Rajasthan Statc as on \SL

September 20242

Choose the ™most appropriate answer from the
options given below:

(A) Bhupendra Yaday

(B)  Jogaram Pate]

© Arjun Ram Meghwal

(D) Bhajanla] Sharma

(E) Question not attempted

:;?iarzozz:% SRIATSTEA W5 35 e o oy
e e 3 Haffirmangmmaﬁ:
(A) =z

W) Armm oy

W) T T Yoy

®) et ymt

(E) sgafawy

Among the following MPs of the Present Lok
Sabha, who has been clected the maximum
number of times to the Lok Sabha?

Choose the most appropriate answer from the

options given below:

(A) Shri Ummed Ram Beniwal
- (B) Shri Gajendra Singh Shekhawat
(C)  Shri Dushyant Singh
(D) Smt Mahima Kumari Mewar
(E) Question not attempted
frafafaa & @ @ adam | gibe gay
mmm%m%ﬁa@ma
Presferfia el 8 & watfers sages g
@ A
(B) i ma=x foe Aamaa
~C)  ge= e
(D)  sfre afey Tl g
(B) o¥aRa ¥y i~

TUV.C09]

BN

12

(A) 7. o i “4
NB) Fg A el -
(© wraft g e e
(D) wfrwdzE &
(E) ‘aag?rfmﬁer 4

Name the Chairperson (as on 30 September 202”'4’}‘
1 |
of SEBI?

e e ladhi

.

|
Choose the most appropriate answer from lhe:
options given below: 1
(A) U.B.Sinha ',-i
(B) Ajay Tyagi % %
(C) Madhabi Puri Buch .:
(D) Shakti Kanta Das
(E)  Question not attempted S5

i
:

HeAT (SEBI) % 27978 F:19 &7 (30, faaram 2024 aa;)j
Frefafiaa fomped i & HEUELELK GRS c A

Ps

In which state NLC India limited (NLCO) has;
secured - 810 MW Grid connected sola\%
photovoltaic project October, 202372 a
Choose the most appropriate answer from the.

options given below: _
(A) Tamil Nadu

(B) Madhya Pradesh
(C) Rajasthan
Sikkim

SLARS

‘s T ki g T 8T W e
it ’I" LS AT T T SRR e

L Saeer]
3oaetig

Question not attempted

oy

[ Contd...
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Where did the Indian Aijr Force conduct the

“Exercisec Vayu Shakti -247

Choose the most appropriate answer from the
options given below:

(A)  Alwar

(B) Pokharan

(C) Dholpur

(D) Tonk

(E)  Question not attempted

SR AT T ST =g WifR-24" e g
mwﬁﬁﬁaﬁwmmzﬁ;

(A) T
B),  drETer
(€) HER
(D) 3w
(E) 2igaitd wa

In December, 2022 where was the first Sherpa
meeting under India’s G20 Presidency held?

Choose the most appropriate answer from the

oplions given below:

(A) Bharatpur (Rajasthan)
(B) Udaipur (Rajasthan)
(C) Bikaner (Rajasthan)
(D) Ajmer (Rajasthan)
(E)  Question not attempted
fegrart 2022 # s i f1-20 sregerar i geedt T
o el Ariferd & S off?
frefafiaa foreredt § 9 watfira Iugw 3w T4
(A) @Y (USTEIH)
B IEAGE @A)
(C) et (T=TRIT)
(D) SSTT (TSTEAT)
(E) srgaf@wq

TUV-Co9|

‘55

13

st National

Who won the women's title in the ‘51 :
held 0

Women's Carrom Championship’
Madhya Pradesh? ihe
Choose the most appropriate answer from

options given below:

(A) K. Sriniwas

(B) Rashmi Kumari

(C) R. Arokiraj

(D) Ravivarman Sharmila

(E)  Question not attempted

qor R & smifea sid uga Afeen FH
Hfergafirg w1 fadra fema= Sftar?

frerffian Rreedt i & aaifoes 39g® S0 91
(A) HifEmm (B) rﬁqamﬁ

(C) ¥ FHTS (D) ri%raﬁ'-r:zrﬁfaT

(B) 3aita 94

Folk Dance Terahtali is related to which of the
following states of India?

Choosc the most appropriate answer from the
options given below:

(A) Bihar (B) Jharkhand
(C) Manipur (D) Rajasthan
(E) Question not attempted

AT A1 Tod IR & o Uoa & graftaa 22
Freferfea et & & waifers sugw o i

(A) Faem (B) @RES
(C) wfirg D) TS
(B) ity

The term such as Udaishahi, Khanjarshahi,
Shivashahi and Vijayashahi etc. are related to
which costume of Rajasthan?

_Choose the most appraprmte answer from the
options given below:

(A)

Dupatta (B) Turban
(C)  Angarakhi (D) Dhotis
(E)  Question not attempted

IAME, W, Rrawmet

TSTEA™ o form wfam & wafua 39 NI
ﬁnf%rﬁaaﬁremﬁr‘iﬁwaf&a;mm :

(A) Twg Q W Ry

(C) I (D) o

(B) ygufaay »

[ C“htd‘

Scanned with CamScanner
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Name the main instruments of the Kalbelias.

Choose the mogy appropriate dnswer from the

Options given beloy:

(A) Pungiw; (B)  Algoja
(©)  RavadKatha (D) Sarangi
(E) Qucstga\!l not attempted

Eﬁ E. P‘

YO gh O ) sy
(©  TEvEt ) wrah

The ratio of ‘the present ages of the Akshat,

Bhuvan, Sandeep and Varun is 7:9:10:13. The
eldest is 12 Yehrs older than the youngest. What
will be the afdof Sandeep 5 years from now?

(A) 20 yeary (B) 30 years
(C) 35years (D) 25 years
(E) Question not attempted

ST, o, T T srewr Y At ag 3 o
7:9:10:13 R 390 8 T i, e o & 12 A rey

1< A S 5 o wer g 7 v

(A) 207y (B) 309
.

© 3578 O 25

E) Cﬂjafé‘;m :

Grass-eating animals quickly swallow the grass
and store it i}a“g part of their body called:

Choose the (m:f.vt appropriate answer from the
options givephelow:
(A) Omasiinh

©) Ocso%gus

Rumen

(B)

(D) Small intestine

(E)  Questiop notattempted :
T @ et 9y asft @ °r et a°, 5@ R F vw
T 3 e A S ) 9 T R FEd
frerfirfaa et § & Aaifirs sugew sacT
(A) St B wm

' oY ari
©) wE ey (D)

E) Iraidxs
( \Ls)

14

61

©
~ Choose the most apprapriate answer from th

)

/|
India won gold medal both in the Mcn"if
Women's categories in which of the foum,'!
FIDE CHESS OLYMPIAD held du‘i
September 2024 at Butipest, Hungary?' .9
Choosc the most ap;g?{;riare answer _fr?_;.n :
options given below: .y

(A) 47t gl
(B) 44th 0 :
(C) 45th () d :4
(D) 46t 1,
(E)  Question not z_atf&‘fhpted " ':
Ryaer 2024 # gzm‘!?\j o § aEitea Em"ﬁ;
mwm@wwﬁw "{
AT gt o et g S ‘ &
ﬁm%f@aﬁiﬁ?ﬁﬁ@%aﬁm'wm-ﬁt
(A)  47df ) -

(B) 444

(C) 4s5di

(D) 46t C'?)‘

B) gafawg (N

Manu Bhaker, an Ind{;;; athlete is related to:';
sport of: o

options given below:

(A) Boxing
. b
(B) Javelin throw 0
(C)  Shooting N
(D) Badminton 4
(E)  Question not atiempted
ngwm‘?r«ﬁqm'ﬁz%q@a%m%?f '

PR Rt i 2 Rarfires s swe g |
(A) sifin — |
(B) Staefiw oy
e
Aefi
MRUILCE

(D)
(E)

06021284
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, . ’ . VN TR i )
How many members are there i (e Rajya Subhu

representing Rajasthun State (@s uh September

2024)?
Choose the maost appropriate answer from the

options given below:

(A) S members

(3) 20 members

(C) 10 membery

(D) 12 membery

(1) Question not attempted

| mmmﬁmﬁﬁmﬁmuﬁamh&yﬁm
L (FaarEt 2024 @) 29

frmfaiea faweat ¥ A waifars sugw sm i

(A) 38
(B) 2089

| \\r(,‘) 10 9EE
(D) 1293
() sraia ay

A shopkeeper sold anitem for 765 aller allowing

a discount of 15% on the marked price. What

-

would have been the sclling price if Iie had
allowed only 10% discount?

U ZERTTETC A Sl WEd T 1 5% P 2 G A
| 2 765 i afll afe 3UA Tt 10% e & A, @

T e T BT 2
; (A) 2816 |

: () T 790

j () T 8oo ’

\R) 2810

i () Question not attempted / Sty
Fuy .

CoY | -

5N s

05

\:{;

15

A Shopkeeper allows successive discounts of
10% und 5% on every item. e allowed an
additional discount of 4% to his (riend on an it
marked at T 20,000. How much his fricnd puifl for
the item?

e SRTETC SR 6] 9 101%, T 5% i i EE
e01 1 36 379 it R sifRa g T 20,000 TG
qwn.rﬁaﬁma:qzaummazamw
feherst e <eman?

(A) T10,512 (B) T 16,200
(C) T 106320 NR)  %16416
(I¥)  Question not attempted / aﬁﬁflﬁﬂ’ﬁ

The Human alimentary canal consists of:

Food pipe/ oesophagus

b. Stomach
c. Liver

d.  Intestine
. Rectum

Choose the most appropriate answer from the

oplions given below:

(A) a,bund donly

(B) 4,b,canddonly

(C) a,b,dand conly

(D) byc,dand ¢ only

() Question not attempted

AR T TTER et 3 B &
7, precit

b, AR

<, U

d. ST
. Heley

(B ﬁqnmﬁr«mﬁﬂﬁmimmzﬁﬁvmaﬂ

(A)  Faea, bailtd

Tﬁ). Faera, b, ¢ 3T d

(C) Faeta, b, d3fKe

(D) AW b, ¢, d 3T e

(B) agufe uy

| Cunhl,,

Scanned with CamScanner



| .

67

N

TUV -

Match List-] with List-]-
a ‘1 t-1 . . List-II
' ? jod plasma - | Cells are suspended
) in it,
L \‘;emoglobin II.  Binds with oxygen
b ' and carries it to

different parts of
the body.

c. Wﬁlte blood cells 111. Clot formation

atelets IV. Fight agamst germs

Wgﬂmq\?ﬁn‘ﬁ
L. ﬁﬁmqsm‘a‘
. Fretfera 2t 2
b. %’Fﬁ%«r Il aiteefiom @ areifre
T 38 Wi F

%ﬁmwﬁﬁ g
gfr&%ﬁﬂm 111 .
\ Iv. ﬂmwpﬁ%asm

-Choo% the most appropriate answer from the
optiogﬁgiven below:

Fr R et 8 & warffores suges swgh:
(A) a-II,b-I,c-IV,d-1I0
=By#-Lb-T,¢g-IV,d - Il

© R-mb-1v,c-md-1 ~

D) Ny Lb-IV,c-II,d-II
(E) ¢Question not attempted / tﬂaﬁﬁﬁw
O
Acco;éjng to Census 2011 which of the following
states has a population less than Rajasthan?
(A) =Qdisha (B) Maharashtra
) YBihar (D) West Bengal
(E) f_ﬁuesﬁom not attempted
2011@me%mﬁﬂ%%aﬁémm
ﬁa—’{%@rmﬁmaﬁ?
(A) tﬁﬁﬁ',m (B) HeUX
©) frr (D) e
(E) STaRa¥d
co9] 4

16

060212 sa-/;/: 06021284 06021284°

(x{ According to the 2011 Census, the sex fati,;4

Rajasthan was:

2011 Y SETVET 6 agzm TS 1 i 3

ar1: i
f Choose the most appropriate answer frop, 'i
UJ options given below: 3

oo et & e ST I

o (A) 877 Ry 926 3
< © 921 (D) 940 !

i (E) Questionnotaﬂe@pfed/aﬂﬂﬁﬂlm =

e

o S S

According to Census 2011 which of the fo]lm,,m!
states has a lower literacy rate than Rajastham !

Choose the most appropriate answer ﬁ'om lh(

options given below: -
(A) TamilNadu (B) Goa
- (C) Bihar (D) Nagaland

(E) Question not attempted :
mzoll%aﬁmﬁwﬁ‘aﬁa’aﬁﬁ%ﬂ T
WA ST TS d FT 27
ﬂ%ﬁﬁwﬁm#%mmmgﬁ Z
&) dg (B
©) fmw (@) e
(E) Hguiays

_'._‘...._-..-_‘ ﬂb__- i it o

e SN P

According to the Census" of 2011, what was Lh!
position of the state of Rajasthan in India mﬂl
respect to its population size? i 1
Choose the most appropriate answer from lht’
options given below: . i {
(A) Ninth (B) Seventh -
" }
(C) Fifth (D) Eighth
(E)  Question not attempted
<t 2011@rmm%ammm$3"“"

g“m“'mmmmmﬁw ;
ﬁﬁ%m&ﬁwﬁﬁwmm? 1
¢ (A)
IGE]

U(C) Yfaat \&) . :
W (D) At ]
C)(E) SR Wy ; ]

[Contd-i

1

5

]
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which of the lullm\ Ing statements is not correct
about R:\Jaslhau‘]{oad Vision 20252

Choosc the mm! appropriate answer from the
options given below:

(A) Al lhcg;‘llagcs of Rajasthan shall be
broughtunder the market economy through
this programme.

(B) Inthe first 15 years, all the villages will be
connectedwith roads.

(C) It was fprepared by the Public Works
Dgpann‘icﬁt of Rajasthan.

(D) Aflter 15 ye"trs of Road Vision, in the next
ten ycam ‘flyovers and four lane state
hlghways.\vxll be developed.

(E) Question'not attempted

e geF T (Vision) 2025 & =X ﬁ
frfatad & | H9-97 S99 9e 18 &7
ﬁﬁ%ﬁﬁiﬁ?ﬁﬁ%wﬁmmmgﬁ

(A) WW%WW]:T%;WU@%
TSI Srdar 3 S e ST

(B) WA 15T & Wit wiet w T § Sy
@ vy

(C) TT TSTEUTY & Wik fmior famT g dam
Teram T @

(D) Tew fasd 15 a9 & 918 3FTA 10 a9 F
wéaﬁailﬁtan%#a@qumﬁm
ﬁm%’_ﬂ]ml

(E) azm?é

The Gestation {Jenod of a cow is:
Choose the miosf appropriate answer from the

options given below:

(A) 194 days¥ (B) 320days

(©) 281day§o (D) 101days

(E) Question qot attempted
mﬁmﬁaﬂﬁﬁ safa

Fr=ferfiaa forepet 4 9 watfora 3age TG
(A) 194 ﬁﬁ‘g ) 320f

©) 281fA (D) 101

(E) 3133?{1’{?7 94

TUV-C09] -

N

17

Antibiotics are productsof _____-

the
Choose the most appropriate answer from

options given below: ™

(A) Parasites and bacteria :w_;

(B) Fungi and bacteria :“;

(C) Fungi and viruses -

(D)  Bacteria and viruses ,Cz

(E) Question not attempted o

R (amfe) _ F IR 2l

ﬁq%mﬁmanwmmmaﬁ
(A) el shsfa() R AT
(©) waF A (D) maﬁtﬁmﬂ
(E) oraf@ws Yy

P2 +39 I

Match List-I with List-1I:

List-I (Revolution) List-IT (Related to)

a. White I F;%iixcry

b. Blue II.  Agriculture
.  Yellow I Milk

d. Green V. Ciil:seeds
1 36 T gl 1 frrer T
T=h-I (sHifer) Ft-11 (i )
a. Ad '\ 1. LR

b, et 1I. fﬁ‘i

c. et 3w

d. ®@ v. ﬁ:g;m

Choose the most appropria!e@nswcr from the

options given below: 1=

ﬁﬁqmﬁmﬁﬁmﬁaﬁmmiﬁ

(A) axliLb-1V,c- Ld- IIJJ
B) aNILb-Ic-1V, -1
(©) a-I,b-m,c-n,d-I\f;f_z
D) a-IV,b-I,c-1,d-1I3
(E)  Question not attempted z;%mgg

[ COntd.
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The price of milk is fixed on the basis of the

\‘Q

content in |,

Chovse the most appropriate answer from the

oplions given below:

(A)  Carbohydrate
(B)  Lactose
(C)  Protein
(D) Fat
(E)  Question not attempled
gmmn@wﬁamaﬁ%zﬁwmﬁ:m
TR T et s )
Pt famedt 3 @ wratfires swam s i
(A)  wrTersse
(B) d¥w
(C) W
D) g r
(E) oufe g

Extra feeding of pregnant cow should be dong\|
after

\77
of pregnancy.
Choose the most appropriate answer from the

options given below:

(A) 20days

(B) 1 month

(C) 3 months

(D) 6 months

(E)  Question not ullemplcd-

migdt T @ sfafes e mifawn ¥
qgrq fear smr =nfewy
Frefafa faeredt # & watfire sagw sat .

o

\QA The highest milk yiclding breed of a cow ol

(A) 20fs
(B) 19w
(C) 39w
H) omE
(E)  yqaftawy
TUV-C09| ¢ !
; :

Which of the following salts in “mineral mix
prevents poitre in cows? 3
Cloose Whe most appropriute answer from the

options given below:

(A)  Sodium Carbonate
. (B)  Cabalt Chloride

(C)  Sodium Nydroxide
(D) Potassium lodide '}
(E)  Question not attempfed 3
Freifrfiaa it @ @a-an e @b fsoe 1§ frem “}
ML A revge (T A @ ST et @7 3
ﬁwﬁfmﬁwnnttnaf&mawgmmﬂ N
(A)  difemm e j
(B)  FrETE AAEE 3
() e eSS i
() 9RRmm sriteEs
(B) sqafe 4 J
i.

. T Q.
Indian origin is:

.

Choose the most appropriate answer from lh‘;ﬁi
. e &

~ options given below: ' 7 \:
(A)  Tharparkar s %
(B)  Sahiwal |
(C)  Sindhi
(D) Haryana @
- (B)  Question not ullemplcd

wmﬂurﬁﬁaaﬁ&axauﬁaﬁﬁmﬁm%:
ﬁqﬁ%ﬁﬁmnamﬁmmmgﬁ:

YA) AT
(B) wdaT
(€) fah
(D) el
(F) st wa

| Contd...
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) [dentify the col
@“‘:pu[an - n::u;‘changt. that takes place when &2 Which of the following is not a propcﬂ)’ of
Uforani '
opper sulphate "honrintoa blue coloured metals? the
cop phate solution jp it. Choose the most appropriate answer from
hoose th
Choose the most appy. Opriate ansyer from the options given below:
options given below: C('; (A) Most metals are n}al cable.
(A) Itchangestoa colo&u—‘}ess solution. (B) Metals are sonorops;
(B)  Itremains blye C) Most metals have Jo;v melting point.
v © ood
(©)  Itchangesto omﬂgé\colour (D) Except lead most metals ar¢ g
(D) Itchanges o a gTeCQEh colour. conductors thcatr ’ ]
(E)  Question not attempted ﬁq%m(E) ngi:gx;ﬁ:;;tg;twemp!;m EFT_ILEIL‘,LEL_
mg:g e = Y T R 3 v Ak ﬁn%f@aﬁmwﬁwaﬁbmmwﬁ
; = iaa‘““’}f@%%@%@q%mwﬂaﬁq ™) st aTg amrmznffmﬁ?ﬁﬁl
R o 0 \ (B) u@qwrﬁzﬁﬁ?ﬁ%f
Frfafea fasedt & & aaffre yoawm aq sy MW%WWﬁ%%|
(A) ﬁrﬂ%ﬁ?%mﬁwﬁﬁi‘?ﬁa‘rma D) mﬁmmmmﬁm
(B) Aferdiwary N Bt €
(C) THST T Tt FT AT Sirarr 2y (E) rgef@sd ,.i
(D)  FHHT T IS T &UHT &1 ST 2 \83\ The famous song of the Bhils of northern Mewar
(E) STIuRawy is: , )
N Choose the most appropriate answer from the
§1  Match List-I with List-II: ! options given below: f‘
~ List-I {0 List-In (A) Maand (B); Kura
a. Stainless steel I ©Y Non metal (C) Mumal (D)! Humseedo
’ b. Gold II. (r:j Metal (E) Question not atterﬁplcd
G Sulphur L Alloy I ﬁa:g%ﬁlélzﬂmvﬂa%
d. Magnesium VO Inert metal feferRa faeedt ﬁ'@fﬁﬁﬁ%mmw:
Tt -1 0 g -1 & gafer i (A) =TS (8) gcr{ﬁ_@r?et;ﬁff
e 3 o © T W
& o4 =}
0 . g .
) : 1. €O uTg 84  ‘Dhol dance’ is assocnated with which area of
. .y fﬁ’ﬁﬂﬁ Rajasthan? e
“_ Thl IV‘- arg Choose the most appropejate answer from the
d BT ford T options given below:  (*3
Choose the most ﬂﬂpfol’g"’ answer from, (A) Jhalawar (B}’ TJalore
options given bel?W-- e _ (C) Sikar (D) Jaipur
ﬂ%ﬁ?ﬂqf\a’uﬁ?ﬁ o ¥ watfares Igg W EEE'Q' (E) Question not attempted
11, b 1V, ¢ - 1L d- 1 BT nmmﬁ:%a%w%qqﬁa%.,
) d- {¥
a-ILb-TIIc- lv(dfl ﬁﬂﬁfﬁﬂﬁ%ﬁﬁﬁuﬂf&wam I
(© -1 b-1V,c- ] E’g; AT Q) S
' Ju SLER (D,)i ST
Wy a-Lb-IVie-l o “mw (E) orgafw s e
‘ (E) Question not attcm;ajd / {9 L
i Tuy - co9 \O ~ [ Contq..,
l 1 < o
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‘35\ When was the first battle of Tarain fought?
Choose the most appropriate answer from the

options given below:

(A) 1194 AD. (B) 1191 AD.
(© 1192AD. (D) 1193 AD.
(E)  Question not attempted

T T V] T et T T

ﬁm%f@aﬁaw&ﬁmfﬁ}awgmm?{:
(A) naTd (B Nyl wE
©€) 1192w & (D) 1193T &,
(E)  ¥ufta war

In which year was the Kota Rajya Praja Mandal
setup?

ﬁamwmzﬁrw%ﬁaﬁgﬂ

Choose the most appropriate answer from the
options given below:

Frafofen i g Wffﬁ?ﬁmmgﬁ
(A) 1945 BL 1942

©) 1943 D) 1944

(E)  Question not attempted / gl wu

A part of integration, when was the Rajasthan
Board of Revenue established?

Choose the most appropriate answer from the
options 'givgn below:

(A) December 1950

(B) September 1948

(C) October 1947

(D) November 1949

(E)  Question not attempted

HAIHS & NI F FY § T o ard )
TG i 562
ﬁnﬁ«rﬁaaﬁm’rfr@rwaf@mmmgﬁ
(A) femmr1950

(B) foamr 1948

(C) HFE 1947

AT 1949

TR war

TUV-C09] ¢

88

20

Who invented the musical instrument

“Mohan Veena™?
Choose the most appropriate answer from lhc :

options given below:

(A) Dr.P.K. Sethi :
(B) Karpur Chand Kulish 3
(C) IJagjit Singh '
(D) Pt. Vishwa Mohan Bhatt ,

(E) Question not attempted

el feredt 3 & watfirr suge SR IH:
© wfafie () o RaEETwE
(E) ormit@ud

Accordmgto Census 2011, which of the fo]lowmg

districts of Rajasthan had the lowest population’ ‘

growth rate during the decade of 2001-20117?

Choose the most appropriate answer from the ,

options given below:

(A) Jaipur (B) Barmer o
(C) Kota (D) Ganganagar 3
«« (E)  Question not attempted i

201 1 SFATVRT 3 ST7AR 2001-201 | 3 271 3 2T |
W%ﬁﬁ%ﬁﬁaﬁéﬁmﬁéﬁmﬁ

T Zaw of?
ﬁ%ﬁqﬂﬂﬁmﬁﬁmmmaﬁ
(a) AR ®) e

© @ Q) T

(E)  arafeawer

Asper the Census of 201 1, the population dcnsnty
in the state of Rajasthan was
per square k.,

persons

2011 ﬁm%u&ﬂr{,mmmm %

RAC =afeh Wi ot Ry o)

Choose the most appropriate answer from the

options given below: =

4
[0
Spln

(A) SHF AR (B) wRIRFOT L

;._-3;;{_— A

“:-} i
et {:‘ Bl o

o
AT i By

s

ﬁﬂﬁf@ﬂﬁ?ﬁ&q}ﬁﬁwﬁﬁmmmaﬁ
(A) 211 (B) 165
~Q) 201 (D) 325

(E)  Question not attempted / TTARE w31

| Contd...
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9, The place from where the Bangg river

originates
is known as:

Choose the maosy appropriate answer from the
options given below:

(A) Bheroka Math

(B) Mountain of Nagg

(C) Minda

(D)  Janapav hills

(E)  Question not attempted

AR T T et 2, e worer e
Fretafaa et 4 9 TS 3w 3t =
(C) ‘{3@ ST Wy
(E) gaftawsy

Which river of Rajasthan originates from the
place Minda of the mountains of Vindhyachal?

Choose the most appropriate answer from the
options given below:

(A) Banganga river (B) Luniriver
(C) Mahi river (D) Chambal river
(E)  Question not attempted

TEEIT 1 H-H1 et Riearae go 3 fver e
o feperdt 22

ﬁqﬁf@ﬁﬁm‘ffiﬁmmmaﬁ;
RA) awmmEd 9By R
S HE T &) T
(E) Iguiawd
93 Which of the following is the biggest artificial
lake of Rajasthan?
Choose the most appropriate answer from the
options given below:
(A) Udai Sagar (B) Jaisamand
(C) Didwana (D) Pichola
(E)  Question not attempted
Preforfiae § @ TORUE A W T G e
S &7 '
frefafiaa faeedl § & waifie Iugw I GA:
(A) STEFR  {B) SEEES
(C) Zirsamr (D) fraren
(E) oraiaud
Tuv-co9) &

N

21

\(Q

(A) Haryana

. » Raikas
By which of the following month are R
known to move for pastoralism? }

: the
Choose the most appropriate answer from

options given below:

(A) August (B) June

(©)  July (D) October

(E) Question not attempted. -

e, Freffad & fie wé § agemor & fe
ATET ST &7 '
formfefaa et # § gaifae 3agw S9 T
(A) T (B) =i

(C) Semmg W) I

(B) gaiawy

lThe Bengal tiger is found in:

Choose the most appropriate answer from the

options given below:

(A) Desert (B) Mountains

(C) Deltaarea (D) Plateau

(E)  Question not attempted

CHIK AR IR U S 1 G

Frafaftaa foed # & waffae sugem sowa:

(A) R (B) werdt &t
e 8 3 (D) 9BRH

(E) Irgafe vz
Which of the following states does not share its
boundary with Rajasthan?

Choose the most appropriate answer from the
options given below:

(B) Uttar Pradesh
(C) Maharashtra (D) Punjab
(E)  Question not attempted

Frefafas % & w-ar v s 3 Ty s
T AT 7w :

ﬁni%fiyaﬁﬁﬁq‘iﬁ%waf&mawg?ﬁmgﬁz
(A) =@ (B) I W
(Q AErg (D) Y=

(E) rgafe wr

| Contd...
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Rajasthan shares its North Western and Wesfern
boundary with which country? |
Ch?osc the most appropriate answer from the
options given below:

(A) “Afghanistan - (B) Nepal

(C) “Pakistan (D) China

(E) “Question not attempted

TSTET S10} 3w ofindt sft aferft it fF 2w 3
T TIAT & 27

ﬁtff‘aﬁaﬁ feet % & wafferes suge s TH:
(A) a?m:mﬁram B) Fwrer

~Q U= (D) W=

(E) Fquia wx

The South Eastern Plateau region of Rajasthan is
also known as:

Choose|the most appropriate answer from the
optionsigiven below:

(A) (Mewar hills

(B) tHadot Plateau

(@) 'fgundi Platcau

(D) *Bundelkhand Plateau

(E) Question not attempted

n—-mmm*f\m el GOt & T 5 A A oft S
ST

frrafefaa faeedl § 4 galfde s7gw ST
(A) FewEt (B TREMITeR

(©) Hrer (D) TREES TR

(E) mﬁﬁua

Wh:chpof' the following National parks of
Rajasthan is included in the list of World
Heritages?

Choose the most appropriate answer from the
optionsigiven below:

(A) ¢Mukundra Hills Sanctuary

(B) {Keoladeo National Park

(C) Rhnthambore National Park

(D) &Sfmska Sanctuary

(E) Ouestion not attempted

T T FI-a1 T T forg fertrara g=ht A
rifiref ek T 82

Freaferfiga forepedt o & gatfire 3ugw ICL:
(A) FE= Hep=21 9gTal 3NEd

TR) arq'aﬁarrraﬁﬂsaﬂ

(©) rg;mzi‘rt g A

(D) gajmaxmmw
(E) (¥aia 94

TUV - C09; i &

100 In Rajasthan this soil is displaced by winds, ]0%
in fertility 'md has more salinity.
Identify 1116‘;.011 type.
Choosc thewmost appropriate answer from the
options giveri below:
(A) Alllfw!!l soil
(B) Latcr{lc soil
(C) Desérfsoil
(D) Black soil

(E) Questlon not attempted
TEATT ngg a7 wa T Freat B ?, 3

—azmm@mvmmﬁﬁgl
mzﬁrwﬁﬁm
ﬁtq%ﬁga @rwfu—m“ﬁtgq
(A) WW
(B) =t
X¢) - TR gaT
(D) IAHET
(E) SITaRayd
n'

11 In 2023 Ihe. Ra_;astham player Divya Kriti Slmzl
Rathore wasﬁ given the Arjuna Award for th
0

game of:
Choose the most appropriate answer from th
options given below:
(A) Shoostihg
- (B) PoldX?
©) Equg;\tlrian
i
(D) Equestrian Dressage
(E) Que u n not attempted

20°3ﬁmmmﬁmﬁgmaﬁw
gmtféméa%:ﬁﬁﬁmwv
Frefiefm e 3 & wratferes svgw 370 -
(A) 0
(B) el
O @© gswar
(D) T3
(E) o7afe war
2? | Contd.
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2 Who among the [ i ] |
“‘Li ( ong the following from Rajasthan wag ‘\w Match List-1 with List-I1:
uwul‘dt‘d padl“a Sllri‘ 2024?

List-1 (Festival) List-11 (Place)

“hoose 3 : . . -
cl the most appropriate answer from the 0. Summer Winter I. Bikanes

options given below:

Festival

() Sl Laxman Singh b. Kajli Teej L Jhalawar

(B)  Shri Lakha Khan Manganiar Kolayat Fair 1. Mount Abu

(©) Shri Moolchand Lodha d. Chandrabhaga Fair 1V. Bundi

(D) Pandit Shri Laxman Bhau Tailanyg _ ﬂjﬁ-l &ty Hjﬁ-ll o1 firem hifsr:

()  Question not attempted q\?ﬁ-l (FTER) ﬁ:ﬁﬁ-ll )

Trred ™ o Tr=iferiiaa @ frd sk w2024 @ a. ey 3T T 3¢ 1. R

et fora a2 T b. ereh L. TS

frfafias foraredt § @ wartfras suges s c. e e X W, A S

(A) o e fe N s J. < e T, 3@

(B) i ST e i _ Choose the most appropriate answer from the

(©) A Ao wan - options given bcl?u‘/: v .

(D) dfEa f qemon wg e ﬁﬁmwﬁmﬁanamwgwm?ﬁl

(1) SafE v z/;; a-Lb-1,c-NL,d-1V
a-HLb-Le-1L,d-1V

: §E) a-1V,b-MLe-Ld-1t
03 The Nat vice me 31Q) a4
1 1c National Service Scheme (NSS) a Central e 5 | 158 AP B R |

sector scheme of the Gove J ¥ i is . )
S c of the Government of India is (E) Question not allcmplcd/dﬂﬁﬁﬂg’l

under which of the following Ministries?

<t > - l T4 3 3N . 5 "o . . .gn
Choose the most appropriate answer from the \10\5. Which of the following is not a wildlife sanctuary
options given below: _ of R:ijnsthmf!
(A) Minislryul'WomcnumIChildDcvclopmcnl L

Choose the most appropriate answer from the
(B) Ministry of Education

options given below:

(C) Ministry of  Sociul .lusllicc and (A)  Vaun Vihar wildlite sanctuary
Empowerment (B3)  Sajjangarh wildlife sanctuary

(D) Ministry of Youth Affairs and Sporls (C)  Ramsagar wildlile sanctuary

()  Question not attempted (D)  Parasnath wildlife suncluary

uh AT (T, UH. TH,) WG TR Edl Th "(E)  Question not attempted

Sy 8y By 2T 2, ue Famfafin # @ form T fFrefafea § & wa-ar o sha sprrvy werear

it 22 SRy

i faredi 8 @ @i 37gw S T Frferfaa fasedt o & waffas svgw oo

(A)  wifecr ud @t fon e (A)  aF faen o= sfta anrmea

a3y farer HAT (B)  OSSMTG a2 Sfia sy

©) Pspep 7T T e S (C)  UHETR a7 it sy

By t i A ST \L{‘J) T =y sl sy

i fo ;. (B) s1qafa gy .
TUV-C09 | ¢ G [ Contg
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‘Statio Shiv Shakti* or ‘Shiv Shakti Point' is the
name of: =

Ch?osc the most app;bpriate answer from the
options given bclow:(‘

(A)  The landing gﬁc of Chandrayan -3's
Vikram lander¢cy

(B)  An Indian Poirtn Atlantic Ocean

(C) A Space Statiorﬁ%n Mars

(D)  An Indian Station in Antarctica

(E)  Question not aftéinpted

fera wifes RR a1 R wifts [EReak L gy

Frerferfen fommedt 3 X darfires s s g
MA)  TEAH-3 ¥ R e ar S wre

(B) il TeEiR § u g fire

© TEmwESHiwmew

(D) SiersHfer 3 va g S

(E) ormftawy = -

Which monument is known as the “Hawa Mahal
of Jhunjhunu?” h-3

Choose the most appropriate answer from the
options given below: '

(A)  Khetri Mahal ¢

(B) Jaswant Thada>

(C) Jagmandir pala@

(D) Lalgarh palace

(E) Question not attempted

FH-H TR PP F TR F T 4 frera #7
Frerferfia faeredt & 8 aratfire Jugwm a0 g
&y TAImEE  (B) AN

(C) wmEiRITE (D) TenTg I
(E) @f@ud
t
Where is the Gagron én situated?
Choose the most appropriate answer from the

options given bclow:.q, ;-
Jhalawar

(A) Bharatpur  OfB)
(C) Alwar ¢(@) Karauli
(E) Question not attetnpted
e fepe et g g &2
Frferfie feedm & IYgeH I L
(A) o) T
o o e
(E) i 9
TUV-C09| >

\gl

24

09 What did Dr.

options given below: - 1;1
(A) Goat herder (B) ¢xCamel herder 4
(C) Sheep herder (D) C\Eattle herder .3
(E) Question not attemp : 3
TSTEIT o AT TShT e 240 ]
ﬁﬁ%ﬁﬁﬁﬁﬁm@%mﬁmgﬁ: A
) WHFTER (B) SewuEn 4
€) WHFIER (D) _ﬁﬁﬁ&ﬁ%ata‘r%
(E) TIufaws @
Iy

P. K. Scl‘};i co-invent w:
Ramchandra? (e8]

Choose the most appraprﬁtf a
-

™~

(B) Jaipur elbow

ey

nswer from th

options given below:

(A) Jaipur foot !
(C) Jaipur wrist (D) &C)alpur knee
(E) Question not attcmpte :
21 ot &. aﬁﬁm%mff!ﬁmwmw
) '
feram A 1
fmfafaa ﬁarcq‘iﬁﬁaaﬁ(gf ng?r‘
Na) AR (B) r,%vgtm :
€ wEgFem (D) (JA I
(E) HFafa s &_:, _

E

Maru Raikas of Rajasthan 4rd basically:

Choose the most appropriate answer from the!

Banjara, a well known gfa‘ﬁp of graziers are
found in the villages of : ;
g o

Choose the most approprlate answer from the

options given below: o
(A) Goa (B) Bihar
(C) Rajasthan (D) %ndhm Pradesh
) o
(E) Question not attempted, ]
. . . i
TR, <RETEY 1 ek e g &gt A
T ST 8) N |
e ferereat o ﬁwaf@fa;avgas I
(A) i (B) Cfren '
©) TS™" (D) 3y wew
(E)  3Tqafd wer j
[ Contd... |
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@Undcr which section among the following Zero
FIR comes in Bharat Nagrik Suraksha Sanhita
2023 (BNSS)?
It T et ifem 2023 (o @ )
Freafeia 3 e a3 it 1 e i s
amdta? (N

1
Choose lhcrqmst appropriate answer from the

options givén'below:

= .
frefafaa @th-‘IT qd watfers Iugw Fo
(A) 191 ‘
(B) 170 <t

0
&3 T b
<) o
(D) 178 ¢+
(E) Que%?fé)n not attempted / TR ¥4
O

-
@ Which of 1516, following Rajasthan state projects
has been granted the National Project status as

updated in .flhy 20237

Choose thq,.mast appropriate answer from the
options gn@n below:

(A) Eastgp Rajasthan Canal Project

(B) Gonfukhi Medium Canal Project

(C) Upp{:\;}'(Rﬂjasthan Bhadra Project

(D) Anandpur Barrage Canal Irrigation Project
(E) Qucg\ion not attempted

P B g e ST e et 1 e,
2023 wm&ﬂrm mmmmaﬁﬁm
™

Freferfra faedt 3 & wartfies I9gw FCTH:
(A) ot rrsft-'zn’-r TET afersTT

(B) \?ﬁ%ﬂ"f AT WIoTae

(C) HAX u:awﬁ TS AT

(&Y S

~(® gt T4
Tuv-co9) &

\115

-l.i\S Select the incorrect pairing from the following’

feed stuffs and their accompanying description:
Choose the most appropriate answer from the
options given below!

(A) Feedsrich ir;é {c}xrbohydrales - Barley

(B) Green foddeg.-|Bersecem

(C) Non- legummohs dry fodder - Lucernc hay
(D) Feedsrich in pfolem cotton seeds

(E) Question nof:altempted

frafafaa =ma amif’ir T A Ger foe § Ted

mmwﬁﬁﬂm

Frerferfiaa foreredt 44 ararfferes Juge 3o I
(a) e g -

(B) T ARI-SEHED

(C) ﬂrmﬁma@#m

(D) WA ¥ g% =m-fater

(E) Faf@ay

Which of the fol&!ving is a coloured broiler
poultry bird? =)

Choose the most :ei(j}pmpriam answer from the
options given below:

(A) CARIBRO DHANRAJA

(B) CARI PRI\{%

(C) CARISONALI

(D) CARIBRO 8!;SHAL

(E) Question ndifattempted

formtfafiara o & e ofi sitser difeg qaft 2
P et 3 s g e
(A) s umaw;ARlBRo DHANRAJA)
(B) ¥ firm (CARI PRIYA)

) %ﬂa‘m&ﬁ@{m SONALYI)

(D) %ﬂzﬁﬁmﬂagmunko VISHAL)

(E) Srgufa@sd ¢

[ Contd.._
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| in the thom
Aeces are found _
' . . " - vg 0f grasses B
“HG  Which of the following animals is used. for the % Several lypes of B
- . I ' - o " 12 - '. sthan.
preparation of vermi compost manure? forests of Rajastl

i . i ss af
Choose the most_appropriate answer from the [dentify the main gra o
' ropriate NS

mong IllL‘ITI. ;
r from the

oplions given below: . Choose the most app I

(/t\ l.‘t‘cch (B)  Silk worm oplions given below:

(C)  Earth worm (D)  Millipede

(E)  Question not attempted

n
(A) Jharber (B) Seva

(D)  Kair

mﬁﬁaﬁ?mﬁgaﬁhﬁnﬁm@mmﬁ f::)) I(;:li';lionnol altempted ‘%l
ST R : ‘ - STt 81
ﬁﬂﬁa%mﬁmv%ﬁﬁmff&a;mmgﬁ: - W’m*mﬁﬁﬁmﬁmﬁ?w &
) st ) Rrewad ey | G g o SR
NQ  Fgam (D) fisidre . Erfrfae Rraeat o & @afierd ITIT

() 3rgafa uy _ (A R )

Q7 In Rajasthan hot, dry and dusty winds starl (Cy T ) W

blowing in summer which is called . () a5 g
ip]l(:::: gl:\\tzm:ul:):]to:]:proprtalc answer from the 1320 Which of the following gmtcm:..':ms arc corrcu?_.,.'v:
(A)  Siroco (B)  Takn ‘ \ a.  Melting of icc is a chemical changc. L
(C)  Foehn (D)  Loo b Formation of curd from milk is a chcmu‘?‘.‘.l &
(E)  Question not attempted o change. |
mﬁmﬁﬁﬁ,waﬂtﬂgﬂﬁmw c. Rusting ol iron is a chemical change.
et & S AT ST R Dissolution of salt in water is a pl1ysic§i]"",
ﬁﬁqmﬁﬁﬁﬁmﬁm@ﬁmﬂi change.

(A fate L '~ Choose the most appropriate answer [rom lhe'
(C) tﬁ'g:( (”DJ\ .a,\ . ' ek
e o options given below: 3 ]

_(/\) a and d only,
(R) a.bandconly

\QE Rajasthan receives most of its rainfall from

] . C b: o
Choosc the most appropriate answer from the ©) and c only

options given below: (D) b,cand donly :
(A) South - west monsoon () Question not altempted ij'?;f
(B)  South - east monsoon ﬁqﬁqﬁgﬁﬁﬁﬁmﬁmmﬁ 3 q
(C) East - west monsoon LI “‘%Wﬁww , N r:
" (D) North - south monsoon | . ~b. i afard &

ag%aﬁmmmnmﬁzsqﬁaﬁq%
(I£)  Question not attempted . ! Hﬁﬁ' . ]
et # aifireag agt |/ W B ® ST T U T g )

i
:
el
E
g
7
!
F il WY

2l
1 few e forredt 8 & ward Sagv s o %ﬁ?ﬁﬁmmmﬁ
(A)  =ferorgfemdy qrrg = a 3

By ot A M) FF 0, b it

(€) qtafftarmm | (©) % b 3iky 3
(D)  Iwt-afdroft wrrg D) FIRAb, ¢ 30 i
(B)  srgafa wy . (B)  srqafmygsy
TUV-co9) 26 :
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Choose the irreversible change from lhcs\\ui Forts situated on high mountains arc called:

following:
Choose the most appropriate answer from the
options given below:

v}
(A) Melting of ice o
(B) Compressing the sporige
(C) Chilling of milk ¥
(D) Buming of wood P
(E)  Question not anemptqg
Frafafea 7 & sgerii wiads @ 9
freerfiaa ferredt 3 & S TG
(A) sEwIfiaeEr (B) oXHs & gdiEgT
(C) T HIHA D) (e T STeHT
(E) 3Iufa we v

When the tip of a picce [é_g a thin ribbon of
magnesium is cleaned and brought near a candle
flame it burns with a brillianf}

Choose the most appropriate answer from the

u:ii

options given below:

(A) Blue light (B) PWhite light
(C) Yellowlight (D) rl}ed light
(E) Question not attemptgd

AT & U vaa S (fei) & 7S & & Y
ﬁmm@ﬁmﬁ%%ﬁﬁmmﬁ

ESnifd!
ﬁﬂ%ﬁa?rﬁm?ﬁﬁﬁwaﬁ%wg?ﬁmg%
(A) =HEER A TR & {Y
(B) IHEER THE THTT o HH
(C) =R et e ¥ AT
(D) WWW%L '

(E) ATl ad O

Who were the Phad reciters?-J
Choose the most appropriate answer from the

options given below: o
(A) Banjaras (B) hopas

(C) Kalbelias (D) (.\iagrada

(E) Queslic_)n Ilot'altempu:rgl_i

g F 9T HiT U? A .
e forepedi i @ AATYE I9gw JACL:
(A) @I W) e

(C) wrAafedr (0) S

(E) gdita 94

27

-C09] -

st
Choose the most appropriate an%‘}{/jer from the

options given below: o\

(A) SainyaDurg (B) Dhanvdn Durg
(C) Giri Durg (D) Parim}burg

(E) Question not attempted 5;
s Rreedi § & waifirs 3ug aT Gk
(n) =gl ®) Rt
WQ firfe gt (D) g

() Tuica w1 ™

g

125\ At 10% per annum compq:uqd intcrc.st,
compounded half yearly, in how much time will

&%

a sum increase by 10.25%7 i
24 months

(A) 15 months (B)

(C) 11 months (D) 12 mgx)‘lhs

(E) Question not attempted (%_)

10% =T =TRfe TSt O, STt gaye G

dafma Tt frargma oo g 10;:25% Frafs
o

B St &
(A) 157EH (B)  24¥H
©) 117ER (D) 129EA
(E) gafawd

=§t
6 The ratio of milk and water in ¢4 liters of a
N\ mixture is 5:3. What amount of miitlk should be
added in the mixture to make the r?:tio 9:47

(A) 12liters (B) 14 liger
(C) 16 liters (D) 15 liters
(E) Question not attempted -

64 12T % fazror 8§ qu T ot 31U 523 B v
ﬁwﬁaﬁtﬁmmggmmﬁﬁ%ﬁmmm}

A (%)
A) LR @) 4R

(C) 167X (D) 15
(B) sgaiawy i

7 IF8A=9B = 10C, then AB:C is: 1 1y
afg 8A =9B = 10C, AT AB:C®: (7

) 45:40:36 (B) 40:45:36
(C) 45:40:48 (D) 32:36:45
(E)  Question not attempted / Ngﬁfm’uar
[ Contq,_
e e e
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128 A sum of 2300 is 1o be divideg among P, Q and | Y89 The full form of N. F. E. With e

R in such a way tha Q gets ¥ 30 more than P and nutrition of cattle is:-
R gets X 60 more than Q. Then the ratio of their Choose the most appropriate answer fmﬂn
shares is: options given below:
3 BOOEﬁUﬁTP QWR&WWW%%Q (A) Nitrogen Free Extract
HPHT30 A T B SR #Y Q 2 60 axfr (B)  Nickel Foam Extract
TR &) W%%wfwagm%: (C) Nitrate Fluorine Ether
6A)  4:5:6 (D) Nitro Fluoro Extract
. i .
(B) 3:4:5 ' (E)  Question not attempted
(C) 3:4:6 qaf3 mléﬁdlqﬂ %mq@ T, 3. ?:];qu-ma_
\caL 21355 P foedt 3 & warffires 3W‘ﬂ?3'ﬂtai
ATZZIS 36T CFagae
(E)  Question not attempted lmﬁﬁﬁﬁﬂﬂ ™
(B) e oy wrEde
. o (C) g weir o
\123 Feeding large doses of vitamin ‘D’ one week N ~4
Befor et X _ (D) T3 FART THagEE 3
¢lore calving protects the cow against: : 5
(B) raftawsr 4
Choose the most appropriate answer from the
options given below: ' 1
\IQ Continuous inbreeding increases:
(A) Milk fever - \
Choose the most appropriate answer from th
(B)  Foot and mouth disease . . "y
options given below:- -
C)  Udder Congestion , :
© T -ongs (A)  Fertility
D) Ketosi
(D) etosis (B) Homozygosity
= i t att ted
(E)  Question not a empte © Heterozygosity .
TS S 3 F T WIS o T ) frarfiy g D , . ;
(D)  Ovulation capacity 3
& gus 3 & AR i @ : |
=51 &t dn (E)  Question not attempted ,
<TEITS BTT 2 : TR S35 & araet 2. |
ﬁ%ﬂﬁﬁﬁéﬁﬁ%mmgﬁ: Frerferr e 53 ;mﬁ
N4 fires e (A) P g
(B) @maﬂﬁwﬁ"@@m%‘ﬁﬁ) (B)  woamery
(C) ot Heper (©)  Frogmm
(D)  Hrifew (D) siSteant anay
(E)  wigafawa (E)  3rmfta wy ‘
TUV-co9] ¢ 28 [ Contd=
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»  Which of the followine
N Ng are the endoparasites of -

133

134

\C) 480 (D) 240

cattle?

Lice

a.
b. Tape worm
c Ascaris

d.  Liver fluke
c. Ticks

Choose the e
‘ : MOst appropriate answer from the
options given below:

(A) a,cande Ollly (B)

() b,canddonly (D) a, band c only
(E)  Question not attempted

d and e only

PR & 23 et 5 st 0
a. %Q

CO GIEaL

N

4. AR

e. Toert (o) .

(A, Faca,c3ie (B) FaadaiRe
€) FaAb, c3Md (D) Haeia, bIic
(E) IFuia 9 ’

The LCM of two numbers is 8 times their HCF‘
and sum of LCM and HCF is 108. If one of the
numbers is 32, then what is the other number?

3 dEaredl ST LCM 39 HCF T 3118 THT & 7T
LCM & HCF 74T 108 &1 afg 378 & T 6T 32 '
(A) 28 (B) 36

() 32 (D) 30

(E) Question not attempted / AT 74

Three numbers are in the ratio 4:5:6 and their

HCF is 8. The LCM of the numbers is:

7 HEAT 4:5:6 3 I A €& S IR HCF 8 €l
Heearsi &1 LCM &: :

(A) 120 (B) 960

(E)  Question not attempted / :qg?rﬁ?rmr

TUv.coy] & 29

) 408

136 Rajasthani literature of the Bha

\35 What is the LCM of 20.4, 1.2, 8 ?

20.4, 1.2, 8 LCM FTR?

(B) 40.8

(C) 816 (D) 816 .
(E) Question not attempted / maﬂf(ﬁ b

kti period was

mainly written between
Choose the most appropriate answer from the
options given below:

(A) 1850to Present time
(B) 1050-1450 A.D.

(C) 1450-1650 A.D.

(D) 1650-1850 A.D.

(E) Question not aﬁempted

iR HIe T ST g HEdd: . &
ey fer@n mam

frafafad famear & gartfires Iages I I
(A) 1850 & FauH AHY

(B) 1050-1450 T €.

(C) 1450-1650 T S,

(D) 1650-1850 T S.

() FRi@ws

Which genre of Rajasthani prose and poetry were
written in Sortha verse?

Choose the most appropriate answer from the
options given below:

(A)  Rupak (B)
(C) Dwavait (D)
(E) Question not attempted .

HitaT & § ey aﬂtwmmmﬁﬁﬁi%{@m
49

Saakhi
Vaat

et forredi # & watfire g swosy,
(A) o () awh =
& @ @)
(B)  srgafea v

[COntd“‘
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(A) Marasya7} (B) Vaat

(C) Parchi %} (D) Prakas

(E) Questionagt attempted

Hat &1 Sfta gaia st for ToeATt 397 & ey w9
I9ETSH §, FET
ﬁﬂfﬁf‘@aﬁﬂﬁ%mﬁmmmgﬁ
(A) #"UET (B) dm

() urEr (D) W™

(B) oTaRE s

f whmh of the following;
¢ mosi
Optiong Biven bél
(A) Saint Mav_;
(B) MaharshkNavalram
(©  Ram Charap

D)  Saint Ranahg;

Question not attempted

==
v v""i‘ﬁf‘mﬁ’ ¥ Prfaf @ fres

ﬁ%ﬁﬁﬁﬁmmwﬁ

hoose
th
’aﬁpmpnam answer from the

(A) mm‘:
© e (D) m"ﬁ:” ey,
(E) mﬁﬁamfw oS
Besides Gogaji, which

other folk deity
as the God of Segpents? ity is revered

Choose the mése appropriate answer from the
options given beléw

(A) Mallmath_]_l_,v " (B)
(C)  Ramdevji (D)  Tejaji
(BE) Quesnon Eot attempted

’ﬁvrrsﬁ?sa?r«rmﬁ:r | T At g s
wﬁm‘ﬂm%?

Pabuji

ﬁw'f%d“@aﬁmﬂﬁwﬁ%}wammaﬁ
(A) A=At (B) vragﬁ
e |
(©) rméa*a‘tm ‘ﬁ;t)\ sttt
(E) m?rﬁ-cn'r

The life hxstoryndf saints which is available in
poetry form in i{ajastham language is known as;
Choose the most appropriate answer from the

options given below:

30

141

\ government (‘?md

. Choose the most appropriate answer from the

po L ;-J
e s b el

Forests and waste land belonging ¢, lﬁ";
Ap— e
individug)g =

private
Or!

communities g(e called: |
Choose the oyt appropriate answer from, lh i
options ngcn"ﬁélow

(A) anateqdrcsts
(B) Protect& forests
(C) Unclassed forests

(D) Reserved forests

(E) QuestibiPnot attempted

mrﬁaﬂrﬁ%%rﬁﬂﬁmméﬂa&aaq

s rges offgmen 2

___.,‘_________:,,,;_'_L.-'-.'.

ﬁqﬁ{@aﬁa@q’rﬁﬁmﬁbﬁmmﬁ
) fetmo @) ‘e

(©) g (D) ST
(E) mﬁﬁ?fw '

The S:tamatamxldhfe Sanctuary is located at:
Choose the szt appropriate answer from lhe

e ARSI S NP

T'F'i
options glchbelow

Yo T

bl dd il tival %

(A) Jaipur<D (B) Chittorgarh

© Alwarm (D) Bharatpur

(E)  Question not attempted : ]
Hiemrar AT frg R ;|
Freafefiae et 3 & wrrffores swges gt |
(A) sEgE (B) ﬁ?ﬁwq "
[(SEE fg} D) A q
®) ey !
Which of the E‘)llowmg natural resources do not

require conservation?

options given‘BElow-

(A) Solar eﬁé}gy (B) Water
©) aAir O

(D) Soil 1
(E)  Questidihot attempted ]
ﬁn&mmﬁmmaammm
< ST G 2 l
ﬁﬂﬁ-lﬁg?fﬁmftﬁwaﬁammwa}l
(A) dRat (B)
© =g - o
(BE) STyuiawsy Q W

[ Contd.n {
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A shopkeeper bought ball pens at the rafe ol 8 for

T 40. How many ball pens should he sell for¥ 30

in order to carn 20% prolit? :

isd aﬁﬁ“;a'{_:‘ ¥ A0 8 AT A @Rl 20%

S a%ﬁhﬁm_ﬁ?@ﬁ e siverm St

iz :

A 7 my 4

(C)__S (D) o . .o

(1) Question not attempted / 39 yy
N

A shopkeeper sold 2 bedcovers at ¥ 594 each. He

carmed 10% profit on one and lost 10%

on the
other. Whatis hisoverall profit or loss percentage?

(A) 2% profut (B No profit, no loss
() 1% loss (D) 1% profit
(!E) Question not attempted

U THMEN T 2 9L, T&IF T T 594 | 941 0 W
IH 10% A T3 S @l W 10% @l g8 T

TR IHT ST 3raT w1 wfeerd 41 22
(A 2% (B) TEMITEN
) 1% EE (D) 1% @M
(B)  Iy7afa g

A shopkeeper sold an item at a profit of 17.5%. It
he had bought it at 8% less price and sold it at
30% profit, he would have carned ¥ 202 more as
profit. Cost price of the item is:

e AT T 1S AR 17.5% & T aleih] afe 36
TR qE 8% FF Ted TG A ST 30% T T
31 Firelt @1 I T 202 3 ST T g3 el %G

(A) T 1900 TNEPR 22000
(C) T 1980 (D) T 1960
()  Question not attempted / -3]3{)?1{1?{ a7

An object is placed ata distance of 60 cm in front
of a planc mirror. What will be the distance
between the object and image formed by the
mirror?

wE grae a9vT & amd afa fadi ?R{I?ffm) em &Y
0t W T S, AR S 3 A A 3uh
afeifir 3 o 1 gt Felt 2

Choose the most gppropriate answer from the
options given below:

Prefafiaa faedi § § aaifies sogem s

149

s

(A) 150 cem M)  GOem
(C) 100 cm (D) 120em
(I3)  Question not attempled / Cﬂ?!?{ﬁ?f D
TUV-C0Y | q) 3
[}
g {

\‘k{ﬂ What will be the number of images forme

)

d for an

object placed in between the two planc mirrors
placed at an angle of 60° between thcm"? .
@aﬁiﬁrnnﬂ%mmr@ﬁmmm_ﬁm
Feera o7 35 vy et sfafiet o1 ey et wl?
Choose the most appropriafe answer from the
options given below: B
Frefafad freedt # § gatfers 39g6 30T
(A)- 6 (B) 3

) 4 Q) S

(5)  Question not attempted /Cﬂa?ff{'rf A

A spherical mirror in which the outwardly curved

part works as a reflector is called :
Choose the most appropriafe answer from the

options given below:

(A) Convex mirror

(B)"  Plane mirror .

(C) Parabolic mirror

(D) Concave mirror

(E)  Question not attempted

u Aty 2dm, foraerT aret i 3 afiFa v o
quEde St ifar Rl T R, 98 FEdrr
frefafaa freedl § § waifie 30gw Iat 4
Il 24

(B) ¥Had g1
(C) waetas (uafas) gdor
(D) 3raad agur
(£) - srqaf@ g

A cross in which the F| gencration is crossed
wilh the recessive parent is called:

Choosc the most appropriate answer from the
aptions piven below:

(A)- Polyhybrid cross

(B) R'ccipmc.'ll Cross

(C)  Test cross

(li) Back cross

(1) Question not attempted

T "t (o) el By Y S sty

ST W HUAT ST 8, FaeATdn 2
ﬁnﬁ@ahﬁﬁﬁmﬁw'mmgﬁ:
(A) “'!;Heﬁtm

(B)  Soh G

(C) whammf (@) g

(D) Wl (AF) Hereur

()

S g
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